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Question ID:- 68

Choose the option from the following ,which best expresses the meaning of bold and
underlined idiom/phrase in the given sentence:

| hate going to the dentist, but I'll just have to bite the bullet.

Options:-

«to feel about good things, Option ID :- 269,

« to force yourself to do something unpleasant, Option ID :- 270,
» to rescue, Option ID :- 271,

» to be critical, Option ID :- 272,
Answer Given:- to force yourself to do something unpleasant, Option ID : -270
Correct Answer :- to force yourself to do something unpleasant Option ID :- 270

Question ID:- 53

Who is the founder of Madras School of Economics?
Options:-

«Dr. C. Rangarajan, Option ID :- 209,

» Dr.Raja Chelliah , Option ID :- 210,

« Dr.P.C.Mahalonibis , Option ID :- 211,

» None of these , Option ID :- 212,
Answer Given:- Dr.P.C.Mahalonibis , Option ID : -211
Correct Answer :- Dr.Raja Chelliah Option ID :- 210

Question ID:- 29

Wave amplitude is :

Options:-

«One-half of the wave height, Option ID :- 113,
« Same as the wave height, Option ID :- 114,

« Double the wave height, Option ID :- 115,

« Does not depend on the wave height, Option ID :- 116,
Answer Given:- One-half of the wave height, Option ID : -113
Correct Answer :- One-half of the wave height Option ID :- 113

Question ID:- 5

Where is the new capital of Indonesia, which is to be changed from Jakarta ?

Options:-
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=Bandung, Option ID :- 17,

= Nusantara, Option ID :- 18,
= Medan, Option ID :- 19,

= Denpasar, Option ID :- 20,
Answer Given:- Nusantara, Option ID : -18
Correct Answer :- Nusantara Option ID :- 18

Question ID:- 7
Which is the first country in the world that has authorized the use of a plant-based
COVID-19 vaccine ?

Options:-

«Canada, Option ID :- 25,

= Brazil, Option ID :- 26,

= Argentina, Option ID :- 27,

= Italy, Option ID :- 28,
Answer Given:- Canada, Option ID : -25
Correct Answer :- Canada Option ID :- 25

Question ID:- 66
Choose from the given options, the ANTONYM of the given word:

Meticulous

Options:-

=careless, Option ID :- 261,

= punctilious, Option ID :- 262,
= diligent, Option ID :- 263,

= scrupulous, Option ID :- 264,
Answer Given:- punctilious, Option ID : -262
Correct Answer :- careless Option ID :- 261

Question ID:- 97
In a certain code PAGE is written as 3%7@ and SORE is written as 8©9@. How is
PEAS written in that code?

Options:-

:3@%8, Option ID :- 385,
= 38@#, Option ID :- 386,
= 83@%, Option ID :- 387,

= #93%, Option ID :- 388,
Answer Given:- 3@%8, Option ID : -385
Correct Answer :- 3@%8 Option ID :- 385

Question ID:- 113

In the below given question, a few statements have been given. Analyse the given
statements and answer whether the data given in the statements are sufficient to
answer the question or not.

|. The last day of the month is a Wednesday.

Il. The third Saturday of the month was seventeenth.
\AWhat Aav ie tha fAanirtaanth Af a Alvian MmaAanth 2
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Options:-

«if the data in statement I alone are sufficient to answer the question, Option ID :-
449,

= if the data in statement II alone are sufficient to answer the question, Option ID :-
450,

= if the data even in both the statement together are not sufficient to answer the
question, Option ID :- 451,

= if the data in both the statements together are needed., Option ID :- 452,

Answer Given:- if the data in statement II alone are sufficient to answer the question,
Option ID : -450

Correct Answer :- if the data in statement II alone are sufficient to answer the
question Option ID :- 450

Question ID:- 58
What is the name of national initiative introduced by the Ministry of Earth Sciences to
measure the air quality of a metropolitan city ?

Options:-

«SAFAR, Option ID :- 229,

= NIRMAL, Option ID :- 230,
= UJJWAL, Option ID :- 231,

= None of these, Option ID :- 232,
Answer Given:- NIRMAL, Option ID : -230
Correct Answer :- SAFAR Option ID :- 229

Question ID:- 46
Where is the Economic and Social Commission for Asia and the Pacific (UNESCAP or
ESCAP) located in?

Options:-

=Tokyo, Option ID :- 181,

= Bangkok , Option ID :- 182,
= New York, Option ID :- 183,

= Davos, Option ID :- 184,
Answer Given:- Davos, Option ID : -184
Correct Answer :- Bangkok Option ID :- 182

Question ID:- 15
The founder of Rashtrakuta dynasty, who defeated Chalukyas of Badami, was:

Options:-

=Krishna I, Option ID :- 57,

=« Dantidurga, Option ID :- 58,
= Govinda II, Option ID :- 59,

= Dhruva, Option ID :- 60,
Answer Given:- Dantidurga, Option ID : -58
Correct Answer :- Dantidurga Option ID :- 58

Question ID:- 86
The process by which DNA is transferred from one bacterium to another by a virus is

known as :
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Options:-
«Transduction, Option ID :- 341,

= Lysogeny, Option ID :- 342,
= Mutation, Option ID :- 343,

= None of these, Option ID :- 344,
Answer Given:- Transduction, Option ID : -341
Correct Answer :- Transduction Option ID :- 341

Question ID:- 70
Fill in the blank with the appropriate preposition from the given options to make it a
meaningful sentence:

The sunis _____ the clouds.
Options:-

«from, Option ID :- 277,

= above, Option ID :- 278,
= for, Option ID :- 279,

= by, Option ID :- 280,
Answer Given:- above, Option ID : -278
Correct Answer :- above Option ID :- 278

Question ID:- 20
After Gandhiji's salt act in Gujarat, who among the following led the salt act in Tamil
Nadu ?

Options:-

=K. Kelappan, Option ID :- 77,

= Karnad Sadashiva Rao, Option ID :- 78,
=« C. Rajagopalachari, Option ID :- 79,

= None of these, Option ID :- 80,
Answer Given:- K. Kelappan, Option ID : -77
Correct Answer :- C. Rajagopalachari Option ID :- 79

Question ID:- 73
Choose the appropriate option to complete the given sentence:

Welayon___ grass and watched the stars.
Options:-

=a, Option ID :- 289,

= an, Option ID :- 290,

= the, Option ID :- 291,

= it, Option ID :- 292,
Answer Given:- the, Option ID : -291
Correct Answer :- the Option ID :- 291

Question ID:- 108
Find from the following alternative which will replace the question mark:
Energy : Joule : : Pressure : ?

Options:-
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=Kilometer, Option ID :- 429,
= Pascal, Option ID :- 430,
=« Ampere, Option ID :- 431,

= Volt, Option ID :- 432,
Answer Given:- Pascal, Option ID : -430
Correct Answer :- Pascal Option ID :- 430

Question ID:- 117
The ratio between the perimeter and the breadth of a rectangle is 5 : 1. If the area of
the rectangle is 216 sq. cm, what is the length of the rectangle?

Options:-

=10 cm , Option ID :- 465,
= 18 cm , Option ID :- 466,
= 17 cm , Option ID :- 467,

= 26 cm , Option ID :- 468,
Answer Given:- 18 cm , Option ID : -466
Correct Answer :- 18 cm Option ID :- 466

Question ID:- 115

When 1/7 of the number is subtracted from the number itself, it gives the same value as
the sum of all the angles of a triangle. What is the number ?

Options:-

=200, Option ID :- 457,
= 210, Option ID :- 458,
= 250, Option ID :- 459,

= 300, Option ID :- 460,
Answer Given:- 210, Option ID : -458
Correct Answer :- 210 Option ID :- 458

Question ID:- 19
Who among the following was the founder of Aligarh Muslim University?

Options:-

=Abul Kalam Azad, Option ID :- 73,

= Syed Ahmed Khan, Option ID :- 74,
= Bhutto, Option ID :- 75,

= Jinnah, Option ID :- 76,
Answer Given:- Syed Ahmed Khan, Option ID : -74
Correct Answer :- Syed Ahmed Khan Option ID :- 74

Question ID:- 116

If an article is sold for ¥ 178 at a loss of 11%, what should be its selling price in order to
earn a profit of 11%7?

Options:-
=«Rs 222, Option ID :- 461,
= Rs 500, Option ID :- 462,
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= Rs 422, Option ID :- 463,

= Rs 715, Option ID :- 464,
Answer Given:- Rs 222, Option ID : -461
Correct Answer :- Rs 222 Option ID :- 461

Question ID:- 88

Which among the following causes Cholera?

Options:-

«Vibrio cholerae, Option ID :- 349,

= Salmonella typhii, Option ID :- 350,
= Clostridium tetanii, Option ID :- 351,

= Antamoeba histolytica, Option ID :- 352,
Answer Given:- Vibrio cholerae, Option ID : -349
Correct Answer :- Vibrio cholerae Option ID :- 349

Question ID:- 52
Name the state in India that launched the first Special Agriculture Zone (SAZ) in 2011

Options:-

=«Kerala, Option ID :- 205,

=« Tamil Nadu, Option ID :- 206,
= Punjab, Option ID :- 207,

=« Uttarakhand, Option ID :- 208,
Answer Given:- Not Attempted
Correct Answer :- Uttarakhand Option ID :- 208

Question ID:- 6

Regarding Economic Community of West African States, which of the following is/are
correct?

1. established in 1975 via the Treaty of Lagos.

2. imposed sanctions on Bali.

Options:-

=Only 1, Option ID :- 21,

= Only 2, Option ID :- 22,

=« Both 1 & 2, Option ID :- 23,

= None of these, Option ID :- 24,
Answer Given:- Both 1 & 2, Option ID : -23
Correct Answer :- Only 1 Option ID :- 21

Question ID:- 57
The label for eco-friendly consumer product, introduced by government is which of the
following?

Options:-

«ISI mark, Option ID :- 225,

=« Trademark, Option ID :- 226,
=« Ecomark, Option ID :- 227,

=« Agmark, Option ID :- 228,
Answer Given:- Ecomark, Option ID : -227
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Question ID:- 63

Which of the following radiation is restricted by the Ozone layer ?
Options:-

«Infrared, Option ID :- 249,

= Ultraviolet, Option ID :- 250,

= Microwave, Option ID :- 251,

= None of these, Option ID :- 252,
Answer Given:- Ultraviolet, Option ID : -250
Correct Answer :- Ultraviolet Option ID :- 250

Question ID:- 10

Through Technology Innovation Hubs (TIH), India is set to implement joint research
projects with which of the following country?

Options:-

=Australia, Option ID :- 37,

=« Germany, Option ID :- 38,

= Japan, Option ID :- 39,

= USA, Option ID :- 40,
Answer Given:- Germany, Option ID : -38
Correct Answer :- USA Option ID :- 40

Question ID:- 35

Comptroller and auditor general of India Actas a :
Options:-

«Guardian of public purse, Option ID :- 137,
= Motivator to government, Option ID :- 138,
= Governor of a country, Option ID :- 139,

= Advisor of external affairs, Option ID :- 140,
Answer Given:- Guardian of public purse, Option ID : -137
Correct Answer :- Guardian of public purse Option ID :- 137

Question ID:- 90

Which among the following is a type of scanner?
Options:-

«Trackball Scanner, Option ID :- 357,

= Steering Scanner, Option ID :- 358,

= Drum Scanner, Option ID :- 359,

= Potball Scanner, Option ID :- 360,
Answer Given:- Potball Scanner, Option ID : -360
Correct Answer :- Drum Scanner Option ID :- 359

Question ID:- 34
Who is known as Modern Manu ?
Options:-

«Dr. Babasaheb Ambedkar, Option ID :- 133,
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= Mohandas Gandhi, Option ID :- 134,
= Sardar vallabhbhai Patel, Option ID :- 135,

= Atal Bihari Bajpyee, Option ID :- 136,
Answer Given:- Dr. Babasaheb Ambedkar, Option ID : -133
Correct Answer :- Dr. Babasaheb Ambedkar Option ID :- 133

Question ID:- 54

Food Safety and Standards Act was enacted in India in
Options:-

=2000, Option ID :- 213,

= 2002, Option ID :- 214,

= 2004, Option ID :- 215,

= 2006, Option ID :- 216,
Answer Given:- 2006, Option ID : -216
Correct Answer :- 2006 Option ID :- 216

Question ID:- 101

Which of the following words cannot be formed by using only and only the letters
available in the word "MAGNIFICENT" ?

Options:-

=ACENT, Option ID :- 401,
= CENT, Option ID :- 402,
= GAIN, Option ID :- 403,

= FAIR, Option ID :- 404,
Answer Given:- FAIR, Option ID : -404
Correct Answer :- FAIR Option ID :- 404

Question ID:- 42

Which two articles of the Constitution were scrapped with the introduction of the Jammu
& Kashmir Reorganisation Act, 20197

Options:-

sArticles 370 and 371, Option ID :- 165,
= Articles 35 and 36, Option ID :- 166,
= Articles 370 and 35(A), Option ID :- 167,

= Articles 371 and 36, Option ID :- 168,
Answer Given:- Articles 370 and 35(A), Option ID : -167
Correct Answer :- Articles 370 and 35(A) Option ID :- 167

Question ID:- 111

If the seventh day of a month is three days earlier than Friday, what day will it be on the
nineteenth day of the month ?

Options:-

«Sunday, Option ID :- 441,

= Monday, Option ID :- 442,
= Tuesday, Option ID :- 443,
= Saturday, Option ID :- 444,
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Answer Given:- Sunday, Option ID : -441
Correct Answer :- Sunday Option ID :- 441
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Question ID:- 23
Which of the following statements are correct for Laterite soils of India ?

Options:-

=Rich in potash, Option ID :- 89,

=« Found in Northern India, Option ID :- 90,

= Characteristic pink or red color, Option ID :- 91,

= Formed from physical decomposition, Option ID :- 92,
Answer Given:- Characteristic pink or red color, Option ID : -91
Correct Answer :- Characteristic pink or red color Option ID :- 91

Question ID:- 3
Which of the following is NOT a member of NATO ?

Options:-

«Slovakia, Option ID :- 9,

= Denmark, Option ID :- 10,

= Netherlands, Option ID :- 11,

=« Ukraine, Option ID :- 12,
Answer Given:- Ukraine, Option ID : -12
Correct Answer :- Ukraine Option ID :- 12

Question ID:- 84

Which of the following controls the aperture of pupil?
Options:-

sconjunctiva, Option ID :- 333,

= cornea, Option ID :- 334,

= iris, Option ID :- 335,

= dark room, Option ID :- 336,
Answer Given:- iris, Option ID : -335
Correct Answer :- iris Option ID :- 335

Question ID:- 94

Direction: A statement followed by two assumptions | and Il. You have to consider
the statement and the following assumptions and decide which of the assumptions is
implicit in the statement.

Assumptions:

(I) The islands being in remote location are not easily accessible.
() Ferries and boats are available to travel to Kravi Islands.
Options:-

=Only assumption I is implicit, Option ID :- 373,

= Only assumption II is implicit, Option ID :- 374,

= Both assumption I & II are implicit, Option ID :- 375,

Statement: Take a ferry or a boat instead of a bus to reach the Kravi Islands faster.
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= None implicit, Option ID :- 376,
Answer Given:- Only assumption II is implicit, Option ID : -374
Correct Answer :- Only assumption II is implicit Option ID :- 374

Question ID:- 69
Choose from the given options, the SYNONYM of the given word:

Essential

Options:-

=needless, Option ID :- 273,

= superfluous, Option ID :- 274,
= insignificant, Option ID :- 275,

= indispensable, Option ID :- 276,
Answer Given:- superfluous, Option ID : -274
Correct Answer :- indispensable Option ID :- 276

Question ID:- 12
What is the name of global hackathon organised by RBI in 20217

Options:-

«Stackcode 2021, Option ID :- 45,
= Finverse 2021, Option ID :- 46,
= Harbinger 2021, Option ID :- 47,

= Poilicizer 2021, Option ID :- 48,
Answer Given:- Stackcode 2021, Option ID : -45
Correct Answer :- Harbinger 2021 Option ID :- 47

Question ID:- 32

The theft of biological resources is called :
Options:-

=Bioprospecting, Option ID :- 125,
= Biopiracy, Option ID :- 126,

=« Ecoprospecting, Option ID :- 127,

= Ecoloan, Option ID :- 128,
Answer Given:- Biopiracy, Option ID : -126
Correct Answer :- Biopiracy Option ID :- 126

Question ID:- 48

In which year did the Government of India and Reserve Bank of India constitute the
Committee on Financial Sector Assessment (CFSA)?

Options:-

=2004, Option ID :- 189,
= 2006, Option ID :- 190,
= 2008, Option ID :- 191,

= 2010, Option ID :- 192,
Answer Given:- Not Attempted
Correct Answer :- 2006 Option ID :- 190
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Question ID:- 120
Simplify the following question .Using Bodmas .

1800 + [10{(12-6)+(24-12)}]
Options:-

«15, Option ID :- 477,

= 8, Option ID :- 478,

= 12, Option ID :- 479,

= 10, Option ID :- 480,
Answer Given:- 10, Option ID : -480
Correct Answer :- 10 Option ID :- 480

Question ID:- 99

Sugan ranks sixteenth from the top and forty ninth from the bottom in a class. How
many students are there in the class?

Options:-

=45, Option ID :- 393,
= 64, Option ID :- 394,
= 56, Option ID :- 395,

= 38, Option ID :- 396,
Answer Given:- 64, Option ID : -394
Correct Answer :- 64 Option ID :- 394

Question ID:- 40
As Constitution believes 'Diversity is a Strength of India’, which Fundamental Right
protects diversity ?

Options:-

=Right to Equality, Option ID :- 157,

« Cultural and Educational right, Option ID :- 158,
= Right to Freedom, Option ID :- 159,

= Right to Freedom of Religion, Option ID :- 160,
Answer Given:- Right to Freedom of Religion, Option ID : -160
Correct Answer :- Cultural and Educational right Option ID :- 158

Question ID:- 82

Oxygen released during photosynthesis comes from which among the following?
Options:-

=Chlorophyll , Option ID :- 325,

= Water , Option ID :- 326,

= Carbon dioxide , Option ID :- 327,

= None of these , Option ID :- 328,
Answer Given:- Water , Option ID : -326
Correct Answer :- Water Option ID :- 326

Question ID:- 65
Fill in the blank by using the correct appropriate word from the following given options :

I Ilhalimiim mdiimmbiomm im thm lrmis b a lnmbbae fdem
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Options:-

suneasy, Option ID :- 257,

= wholeheartedly, Option ID :- 258,
= weird, Option ID :- 259,

= sloppiness, Option ID :- 260,
Answer Given:- wholeheartedly, Option ID : -258
Correct Answer :- wholeheartedly Option ID :- 258

Question ID:- 102

A business man and his wife have 5 sons all of whom are married. If all married man
live with their wives and each son has 2 daughters and 4 son then what is the total
number of females in the family?

Options:-

=15, Option ID :- 405,
= 16, Option ID :- 406,
= 18, Option ID :- 407,

= 11, Option ID :- 408,
Answer Given:- 16, Option ID : -406
Correct Answer :- 16 Option ID :- 406

Question ID:- 119
On a certain sum the simple interest for 25/2 yr is 3/4 of the sum. What is the rate of
interest ?

Options:-

«6% , Option ID :- 473,
= 3% , Option ID :- 474,
= 9% , Option ID :- 475,

= 5% , Option ID :- 476,
Answer Given:- 3% , Option ID : -474
Correct Answer :- 6% Option ID :- 473

Question ID:- 103
If tomorrow is Friday. After 87 days it will be:

Options:-

«Tuesday, Option ID :- 409,

= Wednesday, Option ID :- 410,
= Saturday, Option ID :- 411,

= Sunday, Option ID :- 412,
Answer Given:- Sunday, Option ID : -412
Correct Answer :- Sunday Option ID :- 412

Question ID:- 45

The Ministry of Housing and Urban Affairs launched the ‘CREDAI Awaas’ mobile app
recently. What is the app for?

Options:-

=«Buy affordable property through credible developers, Option ID :- 177,
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= Redressal of Consumer Grievance, Option ID :- 178,

= Geo-tagging of Residential properties, Option ID :- 179,

= Lease property without brokers, Option ID :- 180,

Answer Given:- Buy affordable property through credible developers, Option ID : -177
Correct Answer :- Buy affordable property through credible developers Option ID :-
177

Question ID:- 104

If ‘+' means '+, ‘’x’ means -, *-" means ‘+' and ‘=’ means ‘*’. Then what will be the solution of using
BODMAS:

4-8+16x2

Options:-

=2.5, Option ID :- 413,

= 3.5, Option ID :- 414,

= 1.5, Option ID :- 415,

= 5.5, Option ID :- 416,
Answer Given:- 2.5, Option ID : -413
Correct Answer :- 2.5 Option ID :- 413

Question ID:- 98
Choose from the following options, the missing term (?) of the given series:

36, 34, 30, 28, 24, ...
Options:-

=28, Option ID :- 389,
= 18, Option ID :- 390,
= 26, Option ID :- 391,

= 22, Option ID :- 392,
Answer Given:- 22, Option ID : -392
Correct Answer :- 22 Option ID :- 392

Question ID:- 37
Parliamentary form of Government is taken from Constitution into Indian
Constitution.

Options:-

=America, Option ID :- 145,
= Russia, Option ID :- 146,
« British, Option ID :- 147,

= Canada, Option ID :- 148,
Answer Given:- British, Option ID : -147
Correct Answer :- British Option ID :- 147

Question ID:- 30
Epicentre of an Earthquake is a point:

Options:-
=of origion of Earthquake, Option ID :- 117,
= locus of plates, Option ID :- 118,

= on earth suface, Option ID :- 119,
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= None of these, Option ID :- 120,
Answer Given:- of origion of Earthquake, Option ID : -117
Correct Answer :- on earth suface Option ID :- 119

Question ID:- 85

Among the given colors, which has the shortest wavelength when white light passes
through a prism?

Options:-

=«Orange, Option ID :- 337,
= Yellow, Option ID :- 338,
= Blue, Option ID :- 339,

= Green, Option ID :- 340,
Answer Given:- Orange, Option ID : -337
Correct Answer :- Blue Option ID :- 339

Question ID:- 92

Which of the following is the full form of image format .PNG in computer?
Options:-

=sProcess Network Graph, Option ID :- 365,

= Programable Network Groups, Option ID :- 366,

= Pictorial Network Grade, Option ID :- 367,

= Portable Network Graphics, Option ID :- 368,
Answer Given:- Portable Network Graphics, Option ID : -368
Correct Answer :- Portable Network Graphics Option ID :- 368

Question ID:- 27

What are NOT the Factors Controlling Temperature Distribution ?
Options:-

«Latitude of the place, Option ID :- 105,

= Distance from the sea, Option ID :- 106,

= Presence of Atmospheric charge, Option ID :- 107,

= Altitude of the place, Option ID :- 108,
Answer Given:- Presence of Atmospheric charge, Option ID : -107
Correct Answer :- Presence of Atmospheric charge Option ID :- 107

Question ID:- 105

From the following given options find the group which is different from others.
Options:-

.BDI, Option ID :- 417,

« EHK, Option ID :- 418,

= MPS, Option ID :- 419,

= JMP, Option ID :- 420,
Answer Given:- BDI, Option ID : -417
Correct Answer :- BDI Option ID :- 417

Question ID:- 50
To which PSU has the Government of India sold its stake in NEEPCO (North Eastern



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Electric Power Corp) and THDC India Ltd ?
Options:-

=BHEL, Option ID :- 197,

= NTPC Ltd, Option ID :- 198,

= NHPC Ltd, Option ID :- 199,

= ONGC, Option ID :- 200,
Answer Given:- NHPC Ltd, Option ID : -199
Correct Answer :- NTPC Ltd Option ID :- 198

Question ID:- 71
Choose the correctly spelt word from the following options.

Options:-

=acknowledge, Option ID :- 281,
= acknowlege, Option ID :- 282,
=« aknowledge, Option ID :- 283,

= acknoledge, Option ID :- 284,
Answer Given:- acknowledge, Option ID : -281
Correct Answer :- acknowledge Option ID :- 281

Question ID:- 96

Find the missing term (?) of the below given series:
DEF, DEF2, DE2F2, '?' D2E2F3

Options:-

.DEF1, Option ID :- 381,

=« D3EF3, Option ID :- 382,
« D2F4E2, Option ID :- 383,

= D2E2F2, Option ID :- 384,
Answer Given:- D2E2F2, Option ID : -384
Correct Answer :- D2E2F2 Option ID :- 384

Question ID:- 81

Which of the following gas is also known as Marsh Gas?
Options:-

«Methane, Option ID :- 321,

=« Ethane, Option ID :- 322,

= ethylene, Option ID :- 323,

= acetylene, Option ID :- 324,
Answer Given:- Methane, Option ID : -321
Correct Answer :- Methane Option ID :- 321

Question ID:- 14
Which of the following places are Buddhist cave temples ?

Options:-
=Ajanta, Option ID :- 53,
=« Nalanda, Option ID :- 54,
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= Khajuraho, Option ID :- 55,

= Bhimbhetka, Option ID :- 56,
Answer Given:- Ajanta, Option ID : -53
Correct Answer :- Ajanta Option ID :- 53

Question ID:- 49
Which organisation prepared the Kisan Credit Card scheme?

Options:-

«NABARD, Option ID :- 193,
= RBI, Option ID :- 194,

= SBI, Option ID :- 195,

= ICICI, Option ID :- 196,
Answer Given:- NABARD, Option ID : -193
Correct Answer :- NABARD Option ID :- 193

Question ID:- 2

When is the ‘World Day for International Criminal Justice’ observed?
Options:-

=9 April, Option ID :- 5,

= 17 July, Option ID :- 6,

=« 5 August, Option ID :- 7,

= 11 February, Option ID :- 8,
Answer Given:- Not Attempted
Correct Answer :- 17 July Option ID :- 6

Question ID:- 67
Choose the part (A/B/C/D) of the given sentence that contains an error. If the given sentence does not contain any

error, mark "No error" as the answer. Ignore the punctuation error (if any):

They hope to move in to(A) / the new house as soon as (B) / they got back from Bengaluru next month.(C) / No
error (D)

Options:-

=A, Option ID :- 265,
=« B, Option ID :- 266,
= D, Option ID :- 267,

= C, Option ID :- 268,
Answer Given:- C, Option ID : -268
Correct Answer :- C Option ID :- 268

Question ID:- 95

In a row of ten boys, when Manish was shifted by two places towards the left, he
became seventh from the left end. What was his earlier position from the right end of
the row?

Options:-

«Second, Option ID :- 377,
= Sixth, Option ID :- 378,

= First, Option ID :- 379,

= Nineth, Option ID :- 380,
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Answer Given:- Second, Option ID : -377
Correct Answer :- Second Option ID :- 377

Question ID:- 56
Which was the first national park of India ?

Options:-

=Jim Corbett National Park, Option ID :- 221,

=« Kanha Tiger Reserve, Option ID :- 222,

« Ranthambore National Park, Option ID :- 223,

= Periyar National Park, Option ID :- 224,
Answer Given:- Jim Corbett National Park, Option ID : -221
Correct Answer :- Jim Corbett National Park Option ID :- 221

Question ID:- 109
A, B, C, D and E are sitting on a bench. A is sitting next to B, C is sitting nextto D, D is

not sitting with E .E is on the left end of the bench. C is on the second position from the
right. Ais to the right of B and E. A and C are sitting together. Whose is sitting between
Band C?

Options:-

=B, Option ID :- 433,

= A, Option ID :- 434,

= C, Option ID :- 435,

=« D, Option ID :- 436,
Answer Given:- A, Option ID : -434
Correct Answer :- A Option ID :- 434

Question ID:- 4
Which two countries were impacted by the Typhoon Hinnamnor ?

Options:-

«Burma & Bangladesh, Option ID :- 13,
= Australia & Fiji, Option ID :- 14,

= Singapore & Malaysia, Option ID :- 15,

= Japan & South Korea, Option ID :- 16,
Answer Given:- Japan & South Korea, Option ID : -16
Correct Answer :- Japan & South Korea Option ID :- 16

Question ID:- 87

Among the following which is used in the treatment of lead poisoning?
Options:-

«EBT, Option ID :- 345,

« EDTA, Option ID :- 346,

= DDT, Option ID :- 347,

= Ethylene glycol, Option ID :- 348,
Answer Given:- EDTA, Option ID : -346
Correct Answer :- EDTA Option ID :- 346

Question ID:- 79

Chnneca tha rarract nntinn-
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According to Hoben's theory, Communication is a interchange of thought or
idea.

Options:-

=verbal, Option ID :- 313,

= non-verbal, Option ID :- 314,
= silent, Option ID :- 315,

= interesting, Option ID :- 316,
Answer Given:- interesting, Option ID : -316
Correct Answer :- verbal Option ID :- 313

Question ID:- 74

Which among the following words is an Adjective?
Options:-

«foolish, Option ID :- 293,

« carnation, Option ID :- 294,

= wagon, Option ID :- 295,

= woman, Option ID :- 296,
Answer Given:- foolish, Option ID : -293
Correct Answer :- foolish Option ID :- 293

Question ID:- 17

The system of worship of an abstract form of god, contrary to worshipping
anthropomeorphic forms, is known as:

Options:-

=Saguna bhakti, Option ID :- 65,

=« Sakamya Bhakti, Option ID :- 66,

= Nirguna bhakti, Option ID :- 67,

= None of these, Option ID :- 68,
Answer Given:- Not Attempted
Correct Answer :- Nirguna bhakti Option ID :- 67

Question ID:- 36
The Impeachment of the President is carried by which one of the following ?

Options:-

=Attorney general , Option ID :- 141,

= Members of the legislative , Option ID :- 142,
= Parliament , Option ID :- 143,

= None of these , Option ID :- 144,
Answer Given:- Parliament , Option ID : -143
Correct Answer :- Parliament Option ID :- 143

Question ID:- 28
Which one is correctly matched for characteristic of clouds ?

Options:-
«Cirrus - Cotton wool, Option ID :- 109,

= Cumulus - Layered cloud, Option ID :- 110,
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= Stratus - Feathery appearance, Option ID :- 111,

= Nimbus - Black or dark gray, Option ID :- 112,
Answer Given:- Nimbus - Black or dark gray, Option ID : -112
Correct Answer :- Nimbus - Black or dark gray Option ID :- 112

Question ID:- 21

Among the following which Extremist leader used the safety-valve theory to attack the
Moderates in the Congress?

Options:-

=Bal Gangadhar Tilak, Option ID :- 81,

= Lala Lajpat Rai, Option ID :- 82,

= Bipin Chandra Pal, Option ID :- 83,

= None of these, Option ID :- 84,
Answer Given:- Lala Lajpat Rai, Option ID : -82
Correct Answer :- Lala Lajpat Rai Option ID :- 82

Question ID:- 44
Which clause/section of the J&K Reorganisation Act 2019 outlines the power to
construe laws?

Options:-

=94, Option ID :- 173,
= 95, Option ID :- 174,
= 96, Option ID :- 175,

= 97, Option ID :- 176,
Answer Given:- Not Attempted
Correct Answer :- 97 Option ID :- 176

Question ID:- 75
Choose the appropriate option to complete the given sentence:

| remember that night. You __ that red dress.
Options:-

=were wearing, Option ID :- 297,

= is wearing, Option ID :- 298,

= wear, Option ID :- 299,

= wears, Option ID :- 300,
Answer Given:- wear, Option ID : -299
Correct Answer :- were wearing Option ID :- 297

Question ID:- 33

With what regard is the phrase "paradise of lawyers" used for Indian Constitution ?
Options:-

«Complex legal language, Option ID :- 129,

= Benefits for lawyers, Option ID :- 130,

= Awards for lawyers, Option ID :- 131,

= Provisions for lawyers, Option ID :- 132,
Answer Given:- Benefits for lawyers, Option ID : -130
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Correct Answer :- Complex legal language Option ID :- 129
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Question ID:- 118

The radius of a wheel is 22.4 cm. What is the distance covered by the wheel in making
500 resolutions.

Options:-

=152 m, Option ID :- 469,
= 552 m, Option ID :- 470,
= 704 m, Option ID :- 471,

= 608 m, Option ID :- 472,
Answer Given:- 704 m, Option ID : -471
Correct Answer :- 704 m Option ID :- 471

Question ID:- 72
Which among the following is the correct One Word Substitution for :-
A person who is skilled at combining movements into dances to be performed

Options:-

=Calligrapher, Option ID :- 285,

=« Curator, Option ID :- 286,

= Choreographer, Option ID :- 287,

= Anchor, Option ID :- 288,
Answer Given:- Choreographer, Option ID : -287
Correct Answer :- Choreographer Option ID :- 287

Question ID:- 59

Biochemical oxygen demand (BOD) is the amount of dissolved oxygen needed by
biological organisms to break down organic material

Options:-

«Unaerobic, Option ID :- 233,
= Aerobic, Option ID :- 234,
= Both Aerobic and Unaerobic, Option ID :- 235,

= Atmospheric, Option ID :- 236,
Answer Given:- Both Aerobic and Unaerobic, Option ID : -235
Correct Answer :- Aerobic Option ID :- 234

Question ID:- 62
Which of the following is an Bioindicators of air pollution ?

Options:-

=Moss, Option ID :- 245,

= Lichen, Option ID :- 246,
= Algae, Option ID :- 247,

= None of these, Option ID :- 248,
Answer Given:- Lichen, Option ID : -246
Correct Answer :- Lichen Option ID :- 246

Question ID:- 83
Which of the following does bacteria need to assist it to grow and multiply?

Options:-
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=Only Water , Option ID :- 329,
= Only Food , Option ID :- 330,
= Only Warm temperature , Option ID :- 331,

= All of these , Option ID :- 332,
Answer Given:- All of these , Option ID : -332
Correct Answer :- All of these Option ID :- 332
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Question ID:- 121
Two numbers are 25% and 30% greater than a third number respectively. What
percent of the first number is the second number?

Options:-

=104%, Option ID :- 481,
= 108%, Option ID :- 482,
=« 111%, Option ID :- 483,

= 145%, Option ID :- 484,
Answer Given:- 145%, Option ID : -484
Correct Answer :- 104% Option ID :- 481

Question ID:- 16

Who among the following shifted capital from Delhi to Devagiri ?
Options:-

«Aram shah, Option ID :- 61,

= Iitutmish, Option ID :- 62,

= Muhammad bin Tughlalq, Option ID :- 63,

= Qutubuddin Aibak, Option ID :- 64,
Answer Given:- Muhammad bin Tughlalq, Option ID : -63
Correct Answer :- Muhammad bin Tughlalq Option ID :- 63

Question ID:- 13
The second council of Buddhism was organized by Kalashoka. He was from which of
the following Dynasty ?

Options:-

=Nanda Dynasty, Option ID :- 49,

=« Haryanka Dynasty, Option ID :- 50,

= Shishunaga Dynasty, Option ID :- 51,

= None of these, Option ID :- 52,
Answer Given:- Nanda Dynasty, Option ID : -49
Correct Answer :- Shishunaga Dynasty Option ID :- 51

Question ID:- 55
Match the following

(National parks) (States)

1. Kaziranga National Park A. Madhya Pradesh

2. Dachigam B. Assam

3. Kanha C. Jammu and Kashmir
Options:-

«1-C, 2-B, 3-A, Option ID :- 217,
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= 1-B, 2-A, 3-C, Option ID :- 218,
= 1-A, 2-C, 3-B, Option ID :- 219,

« 1-B, 2-C, 3-A, Option ID :- 220,
Answer Given:- 1-B, 2-C, 3-A, Option ID : -220
Correct Answer :- 1-B, 2-C, 3-A Option ID :- 220

Question ID:- 89

Which of the following non-metals is the best conductor of electricity?
Options:-

=Phosphorous , Option ID :- 353,

= Bromine , Option ID :- 354,

= Graphite , Option ID :- 355,

= None of these , Option ID :- 356,
Answer Given:- Graphite , Option ID : -355
Correct Answer :- Graphite Option ID :- 355

Question ID:- 61

The primary source of energy in eco-body is which of the following?
Options:-

=Solar, Option ID :- 241,

= Sucrose packets, Option ID :- 242,

« Fermentation, Option ID :- 243,

= None of these, Option ID :- 244,
Answer Given:- Solar, Option ID : -241
Correct Answer :- Solar Option ID :- 241

Question ID:- 106
How many 7's are present in the following sequence of numbers which are both
preceded and followed by perfect square numbers ?

123 79743689 721748 92 54 ( 35237 rry
Options:-

=2, Option ID :- 421,

= 3, Option ID :- 422,

= 5, Option ID :- 423,

= 4, Option ID :- 424,
Answer Given:- 5, Option ID : -423
Correct Answer :- 5 Option ID :- 423

Question ID:- 24
For which state, cultivable area affected by soil erosion in India is largest ?

Options:-

=Rajasthan, Option ID :- 93,

= Sikkim, Option ID :- 94,

=« Tamil Nadu, Option ID :- 95,

= Tripura, Option ID :- 96,
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Answer Given:- Sikkim, Option ID : -94
Correct Answer :- Rajasthan Option ID :- 93

Question ID:- 76

Read the below given passage carefully and answer the question from the
following given options:

Dry fruits are useful in various diseases of the brain, muscles and tissues. Particularly
almond has got unique properties to remove brain weakness and strengthen it. Almond
preserves the vitality of the brain, strengthens the muscles, and destroys diseases
originating from nervous and bilious disorders.

Walnut is another dry fruit that possesses wonderful qualities of curing brain weakness.
According to Dr. Johnson, almonds, figs, grapes, dates, apples, and oranges are rich
in phosphoric element and should normally be used by brain workers. Phosphorus
nourishes the vital tissues of the body. It keeps the mind full of enthusiasm for more
work.

Q. According to the passage, which of the following is true about the dry fruit
Almond?

Options:-
«It preserves the vitality of the brain., Option ID :- 301,
= It strengthens the muscles., Option ID :- 302,

» It destroys diseases originating from nervous and bilious disorders., Option ID :-
303,

= All of these, Option ID :- 304,
Answer Given:- All of these, Option ID : -304
Correct Answer :- All of these Option ID :- 304

Question ID:- 26
Largest rubber producing state in India is which of the following?

Options:-

«Tripura, Option ID :- 101,

=« Assam, Option ID :- 102,

=« Tamil Nadu, Option ID :- 103,

= Kerala, Option ID :- 104,
Answer Given:- Kerala, Option ID : -104
Correct Answer :- Kerala Option ID :- 104

Question ID:- 114
Question is based on the data given below. Study it carefully and answer the question.

In a school out of 250 students studying in class IX, boys & girls are inthe ratioof 2: 3
respectively. Each student likes to play one or more of the games Badminton Table
Tennis & Foot Ball. 19% of the

boys & 16% of the girls play only Badminton. 11 % of the boys &18% of the girls play
only Table Tennis and 16% of the boys &12% of the girls play only Foot Ball. 15% of
the boys & 18% of the girls play Badminton as well as Table Tennis. 17% of the boys
& 14% of the girls play& Badminton as well as Foot Ball. 15% of the boys & 16% of the
girls play table tennis as well as FootBall. Remaining boys & girls play all three games.



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

FOow many girs piay at i1east tiwo games ¢

Options:-

=81, Option ID :- 453,
= 91, Option ID :- 454,
= 64, Option ID :- 455,

= 57, Option ID :- 456,
Answer Given:- Not Attempted
Correct Answer :- 81 Option ID :- 453

Question ID:- 43
Which section of the J&K Reorganisation Act 2019 refers to the Consolidated Fund of
the Union Territory of Jammu and Kashmir?

Options:-

=62, Option ID :- 169,
= 64, Option ID :- 170,
« 69, Option ID :- 171,

=« 67, Option ID :- 172,
Answer Given:- 67, Option ID : -172
Correct Answer :- 67 Option ID :- 172

Question ID:- 51
As per the Periodic Labour Force Survey (PLFS) for the year 2020-2021, what is the
unemployment rate in India?

Options:-

=4.10% , Option ID :- 201,
= 5.10% , Option ID :- 202,
= 7.20% , Option ID :- 203,

= 7.10% , Option ID :- 204,
Answer Given:- 7.10% , Option ID : -204
Correct Answer :- 7.20% Option ID :- 203

Question ID:- 78
is the continued effort towards a goal even though obstacles may exist.
Options:-
=Persistence, Option ID :- 309,
= Intensity, Option ID :- 310,
= Activation, Option ID :- 311,

= none of these, Option ID :- 312,
Answer Given:- Persistence, Option ID : -309
Correct Answer :- Persistence Option ID :- 309

Question ID:- 41

The House of People and Council of States jointly sit when :

Options:-

=Matters regarding national importance needed to be discussed, Option ID :- 161,
= There is disagreement between the two Houses, Option ID :- 162,

= It is called by the President, Option ID :- 163,
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= One year is lapsed after the last meeting, Option ID :- 164,
Answer Given:- Not Attempted
Correct Answer :- There is disagreement between the two Houses Option ID :- 162

Question ID:- 77
Choose the correct option:
Group discussions are conducted in colleges among students to evaluate their

Options:-

scommunication skills, Option ID :- 305,
= listening skills, Option ID :- 306,

= thinking skills, Option ID :- 307,

= all of these, Option ID :- 308,
Answer Given:- all of these, Option ID : -308
Correct Answer :- all of these Option ID :- 308

Question ID:- 112
Directions:Study the below given table and answer the given question based on it.
Expenditures of 3 pran‘f [in Lakh RUPEESI;EHI'FLIH\ Qver the given Years,

item of Expenditure

Salary Fuel and Transport Bonus | Interestonloans | Taxes

19 | % 3 24 B
" | W 10 28 25 1
| o W 16 I
w5 13 36 %4 B

a2 A 142 3% 494 %

The total expenditure of the company over these items during the year 2001 is?
Options:-

=599.08 lakhs, Option ID :- 445,

= 497.08 lakhs, Option ID :- 446,

= 597.08 lakhs, Option ID :- 447,

= 537.88 lakhs, Option ID :- 448,
Answer Given:- 597.08 lakhs, Option ID : -447
Correct Answer :- 597.08 lakhs Option ID :- 447

Question ID:- 60

Which of the following has the largest seasonal crop water needs ?
Options:-

=Sugar Cane, Option ID :- 237,

=« Banana, Option ID :- 238,

= Potato, Option ID :- 239,

= Tomato, Option ID :- 240,
Answer Given:- Sugar Cane, Option ID : -237
Correct Answer :- Sugar Cane Option ID :- 237

Question ID:- 22
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Vhat Is the cause for rainfall during winters in northern part of india ¢
Options:-

«Western disturbance, Option ID :- 85,

= Cyclonic depression, Option ID :- 86,

= EL-NINO, Option ID :- 87,

= LA-NINA, Option ID :- 88,
Answer Given:- Western disturbance, Option ID : -85
Correct Answer :- Western disturbance Option ID :- 85

GET IT ON
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Question ID:- 107

Fill in the blanks:
In a certain language, if 'CIGARETTE' is coded as 'GICERAETT' , then 'DIRECTION'
would be coded as

Options:-

«ONIETCRID , Option ID :- 425,
= RIDTCENOI, Option ID :- 426,
= RIDCTIONE, Option ID :- 427,

=« NORTECDII , Option ID :- 428,
Answer Given:- RIDCTIONE , Option ID : -427
Correct Answer :- RIDTCENOI Option ID :- 426

Question ID:- 39

Right to life cannot be suspended even during , according to article 352.
Options:-

«Court orders, Option ID :- 153,

= Riots, Option ID :- 154,

= Emergency, Option ID :- 155,

= None of these, Option ID :- 156,
Answer Given:- Emergency, Option ID : -155
Correct Answer :- Emergency Option ID :- 155

Question ID:- 47

The corpus of the Payment Infrastructure Development Fund (PIDF), including the
contribution by the Reserve Bank, authorised card networks and card issuing banks,
stands at

Options:-

=Rs 100 crore, Option ID :- 185,
= Rs 275 crore, Option ID :- 186,
= Rs 613 crore, Option ID :- 187,

= Rs 700 crore, Option ID :- 188,
Answer Given:- Not Attempted
Correct Answer :- Rs 613 crore Option ID :- 187

Question ID:- 110

Observe the following series carefully and answer the questions that follow
AS12&"E7211@!"#@!'0"&#>8U>
How many numbers follow a vowel alphabet?
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Options:-

=0, Option ID :- 437,
= 1, Option ID :- 438,
= 2, Option ID :- 439,

= 3, Option ID :- 440,
Answer Given:- 1, Option ID : -438
Correct Answer :- 1 Option ID :- 438

Question ID:- 100

Which word among the following will come in the second place if all of them are
arranged alphabetically as in a dictionary?

1.Entry 2 Efflorescent 3. Entreat 4 Ensure

Options:-

=Entry, Option ID :- 397,

= Entreat, Option ID :- 398,
=« Ensure, Option ID :- 399,

= Efflorescent, Option ID :- 400,
Answer Given:- Ensure, Option ID : -399
Correct Answer :- Ensure Option ID :- 399

Question ID:- 8
Which UNFCCC conference is to officially launch 'The International Drought Resilience

Alliance' (IDRA) ?

Options:-

«COP26, Option ID :- 29,
= COP27, Option ID :- 30,
=« COP28, Option ID :- 31,

=« COP29, Option ID :- 32,
Answer Given:- COP28, Option ID : -31
Correct Answer :- COP27 Option ID :- 30

Question ID:- 11
‘Which historical personality is the 'Statue of Peace', unveiled by Home Minister ?

Options:-

=Ramanujacharya, Option ID :- 41,

=« Adi Shankaracharya, Option ID :- 42,
= Gautam Buddha, Option ID :- 43,

= Mahavira, Option ID :- 44,
Answer Given:- Adi Shankaracharya, Option ID : -42
Correct Answer :- Ramanujacharya Option ID :- 41

Question ID:- 80
Which one of the following is a characteristic of Laissez-Faire leadership style?
Options:-

=Give freedom to their team members to decide their work and completion deadlines,
Option ID :- 317,



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

= Support is provided in terms of resource and advice only if required, Option ID :-
318,

= It may not work if the team members and not knowledgeable and time efficient,
Option ID :- 319,

= All of these, Option ID :- 320,

Answer Given:- Give freedom to their team members to decide their work and
completion deadlines, Option ID : -317

Correct Answer :- All of these Option ID :- 320

Question ID:- 31
The Lut Desert is located in :

Options:-

«Irak, Option ID :- 121,

= Iran, Option ID :- 122,

=« Yemen, Option ID :- 123,

= Qatar, Option ID :- 124,
Answer Given:- Not Attempted
Correct Answer :- Iran Option ID :- 122

Question ID:- 64
According to "State of Global Air 2020 Report" which of the following country faced the
highest per capita average PM2.5 exposure in the world ?

Options:-

=Bangladesh, Option ID :- 253,
= India, Option ID :- 254,

=« China, Option ID :- 255,

=« Pakistan, Option ID :- 256,
Answer Given:- India, Option ID : -254
Correct Answer :- India Option ID :- 254

Question ID:- 9

Avani Lekhara who won gold at the Chateauroux 2022 in France, excels in which of the
following sports ?

Options:-

=Badminton, Option ID :- 33,

=« Table Tennis, Option ID :- 34,

= Shooting, Option ID :- 35,

= Wrestling, Option ID :- 36,
Answer Given:- Table Tennis, Option ID : -34
Correct Answer :- Shooting Option ID :- 35

Question ID:- 38

According to Preamble what does the term 'Republic' mean ?

Options:-

=People elect their representatives and hold them accountable, Option ID :- 149,
= Citizens cannot be discriminated on any grounds, Option ID :- 150,

= The head of the state is elected person and not in a hereditary position, Option ID :-
151,
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